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What is the hardness of the 5 minerals given to you? 








MATERIALS:





5 different minerals 			- A penny (copper)


A nail (tin) 				- A microscope slide (glass) 


Safety goggles





PROCEDURE:





Take the first of the 5 minerals presented to you.


Scratch the mineral with your fingernail. 


If possible( go to step 6


If not possible( go to step 3 


Scratch the mineral with the penny (copper).


If possible ( go to step 6. 


If not possible ( go to step 4 


Scratch the mineral with a nail (tin)


If possible ( go to step 5


If impossible ( go to step 6 


Scratch the microscope slide (glass) with the mineral. 


Fill in the result table and start over with a different mineral.  





RESULTS:





Mineral�
Scratched by 


 a fingernail�
Scratched by a penny (copper)�
Scratched by a nail 


(tin) �
Scratches a microscope slide (glass)�
(Range of) Hardness on  Moh’s scale�
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Use the chart below...





CONCLUSION:





Put your minerals in order of increased hardness.  �________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________








Give some sources of error/ limitations of this method. �__________________________________________________________________________________________________________________________________________________________________________________________________________________








If possible: 





Hardness is 


< 2.5





START HERE!


Scratch the mineral with a fingernail.





If possible: 





Hardness is 


[2.5- 3[





If impossible: 





Scratch the mineral with the penny








If possible: 





Hardness is


> 5.5





If impossible: 





Scratch the glass with the mineral. 





If possible: 





Hardness is 


[3 -5.5[





If impossible: 





Scratch the mineral with a nail











